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I ’nmwn: range of "1 nyaw (2° half of Mwn on next page with next Myw)
a  Applies to: things pertaining to himself and to things pertaining from him to others
i Example: commitment to give someone a gift
1 Note: must be a regular gift to a "1»wy”; if it’s NpTY, he’s already bound by v. 2
b Applies to: tangible and intangible commitments
i (Essential nopin. distinctions between myaw/p»m
1 o772 can be made to counter a mxn, but only apply to tangible objects
2 mwiaw. cannot be made to counter a mxn, but apply to intangibles as well)
ii ~ Example: commitment to sleep/avoid sleep
1 Challenge: 13nv " ruled that if someone bans sleep from himself for 3 days, gets man immediately and sleeps
(a) Resolution: in our case, he didn’t specify a time — it’s feasible to fulfill
iii Example: commitment to throw something in the sea/ to avoid throwing
1 Tangential dispute: if someone took an oath that 'm%a threw something in the sea
(a) a7 liable; it is reversible (he could take an oath that 'a did not throw something into the sea)
(b) Snmw. exempt; it isn’t fully reversible; he could not take such an oath re: the future
(i) Suggestion: their dispute follows »"1/y" in the second half of this niwn (p. 23)
1. y”1. allows for »071 n»12w about the past; »1 does not
a. a7 follows y™ (past oaths are valid ipso facto)
b.  Sxmw: follows » (past oaths are invalid, due to their irreversibility)
2. Rejection: all agree that according to ™, this would be invalid - it’s about the past!
a.  Rather: they disagree about how y™ would rule:
i. 27 follows y™ “straight-up”
ii.  Sx1pw:y™ only finds liability for past if it is reversible to future (anchored in yIn%...)
(ii) Suggestion: their dispute follows nnon/a”an (ahead " n1wn)
1. 37307 allows for ny1aw to fulfill a mxn via 1y7p —
a. Counter: since it can’t be reversed (can’t take an oath to violate mxn) — invalid
b. 27 follows 2”2» (no need for reversibility)
c.  Snmw follows 1117
2. Rejection: agree that 2”2, doesn’t require 1n/1RY reversibility, certainly wouldn’t re: past/future
a.  Rather: they disagree about how 1327 would rule
i.  Snipw.read a7 “straight-up” (i.e. they require reversibility)
ii. 37 only require jn/1R% as per v. 1; not “past/future” which is from nw-7
(c) Challenge (to 58w by N11p71 79): if A states that he didn’t eat or wear p%an, B foreswears him — jnx —27n
(i) But:itisn’t reversible — cannot take an oath that he will not wear y%an (e.g. tomorrow)
(ii) Defense (ns1p77 *9): distributed — “eating” — re: 127p; “P»an” re: man (i.e. 7111 — no reversibility need)
(d) Challenge (X27): W nN»1aw is contra what is commonly known e.g. a stone pillar is gold
(i) &5w: it must be known to at least 3 people to be considered xnw ny1aw
(ii) Inference: if not known to 3 people — violation of "0>2 n»aw — but it isn’t reversible to future
(iii) Defense (»#37): if it isn’t known — violation of pw ny1aw -
(e) Delimiters: »ar — 11 agrees in case where he swears that he knows testimony
(i) Reason: can’t be reversed at all — that is mTvyn ny1aw (“I don’t know my for you”)
(if) But: “onyT RY/MTY MY “nTYN RY/NTYR” is the same dispute
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(f) Observation: YR1V’s position jibes with exception of m7yn nNY12w — must be explicated, as it couldn’t fit
into "2 NY1aw as it isn’t reversible; but 19's position is difficult — why the need for mTyn ny1aw?
(1) Answer (students to »ax): to make 2 nravn
1. Rejection: v. 1 indicates only one ("no&n nnx5”)
2. Rather: the omission of DYy in MTYn NY1aw > even TN
3. Counter (students): perhaps he’s liable twice if it is a2 (rejection — nYRN NnXY) and 11— only 1!
(ii) Answer (X37): since mTyn N»aw was distinguished — it is no longer »va nyaw
1. Inference: »ar believes it is still 1022 ny1aw; but he claimed that 17 agreed, due to irreversibility
a. Answerl: »ar changed his mind about 27's position
b.  Answer2: one of these two reports was given in »aR’s name by 8™
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